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Sample Paper – 2012
Class – XII
Subject – Accountancy
Time allowed: 3 hours




    

        

                Maximum Marks:  80

General Instructions:

(i) This question paper contains two parts A, B.

(ii) All parts of the question should be attempted.

           PART - A (ACOUNTANCY)

1. Give any one points of difference between income and expenditure account and receipt and payment account.
(1)
2. Mention any two circumstances under which the fixed capitals of partners may change.



(1)
3. State any two occasions on which a Partnership Firm can be reconstituted.




(1)
4. What is oversubscription?










(1)
5. A, B and C are partners in the ratio of 5: 3: 2. They agree to share the future profits in the ratio 2 : 2 : 1. Calculate sacrifice or gain of the partners.










(1)
6. Calculate the amount of sports material to be debited to the income and expenditure  account of Young India Sports Club for the year ended 31.03.2008 on the basis of the following information-

01.04.2007           31.03.2008

Stock of sports material 



      
  3,750


      3,200  
Creditors for sports material 



   1,000


      1,300

Amount paid for sports material during the year was Rs.6,500.






(3)
7. X Ltd. forfeited 1,500 shares of Rs.10 each (Rs.7 called up) for the non payment of allotment money of Rs.4 per share (including Rs.1 as premium). Out of these 1,000 shares were reissued to Mr. Z at Rs.6 per share as Rs.7 paid up. Journalese the above transaction in the books of X Ltd.






(3)
8. Y Ltd purchased machinery for Rs.5,40,000 from M/s Mohan Brothers. 50% of the amount was paid to Mohan Brothers in cash and for the balance the company issued 9% debentures of Rs.100 each at a discount of 10% in favor of Mohan Brothers.  











(3)
 or Rs.5,40,000 from M/s mohon up) for the non payment of the allotment money  of Rs.4 per share inclu
9. Give the meaning of issue of shares at a discount. List any four conditions for the issue of shares at discount.
(4)
cës ij va'k¨a ds fuXk±eu dk vFkZ le>kb;saaaA /kkjk 79 ds vuqlkj cës ij va'k¨a ds fuXk±eu dh d¨bZÃ pkj 'krsZZ crkb;saA
10. Ramesh and Suresh were Partners in a firm sharing profits in the ratio of 7:3. Their fixed capitals were Ramesh Rs.1,80,000 and Suresh Rs.80,000. The partnership deed provided for the following, but the profit for the year was distributed without providing for: 
(i) Interest on capital @ 9% per annum.
(ii) Ramesh’s salary Rs.10,000 per year and Suresh’s salary Rs.600 per month.
The profit for the year ended 31.03.2008 was Rs.55,600. Pass the adjustment entry.



(4)
11. Sun, Moon and Star are partners in a firm sharing profits in the ratio of 3:2:1. Star retired and new ratio between Sun and Moon was decided 1:2. On Star’s retirement there was a debit balance of Rs.45,000 in the Profit and Loss A/C. The goodwill of the firm was valued at Rs.1,50,000. Pass necessary journal entries on Star’s retirement without opening Goodwill Account.










(4)
12. (a) On 31st March 2008, G Ltd. had Rs.8,00,000, 9% debentures due for redemption. The company had a balance of Rs.3,40,000 in its  debentures redemption reserves accounts. Pass necessary journal entries for redemption of debentures.
(b) Y Ltd. redeemed 4,800, 12% debentures of Rs.100 each, which were issued at par, at 110 % by converting them into equity shares of Rs.10 each issued at a discount of 4%. Journalize.
               


     (3+3=6)
13. From the following Receipts and Payments account of Royal Sports Club and from the information supplied, prepare the income and expenditure account for the year 31st March 2008 and the balance sheet as on that date.
RECEIPTS AND PAYMENTS ACCOUNT

      For the year ending 31st March, 2008

	Receipts 
	Rs.
	Payments
	Rs.

	To Balance b/d

To Subscriptions 

2006-07

2007-08

2008-09

To sale of old machinery (costing Rs.3,000)

To Interest received 

To Profit from charity show
	7,500
7,500

30,000

6,000

1,800

22,200
15,000
	By Salary
By Repair charges 

By Power expenses 

By Sports equipments 

By Grass cleaning 

By Stationery 

By Machinery 

By Balance c/d
	36,000
9,000

6,000

3,000

12,000

1,500

7,500

15,000



	
	90,000
	
	90,000


Additional Information-
(a) Subscriptions outstanding on 31st March 2007 were 9,000 and on 31st March 2008 were Rs.9,500 
(b) On 31st March 2008 salaries outstanding amounted to Rs.2,000. Salaries paid included Rs.1,000 for the year 2006-07. 
(c) On 1st April 2007, the club owned Land and Building valued as Rs.3,00,000, machinery Rs.18,000 and sports equipments Rs.15,000. Value of sports equipment on 31st March 2008 was Rs.16,000 and value of machinery was Rs.20,000.









(6)
14. What Journal entries would you pass for the following transactions on the dissolution of the partnership firm of A&B.
a. An unrecorded asset realized Rs.2,500.

b. Stock worth Rs.2,000 already transferred to Realization Account was taken over by a partner A.

c. Creditors, already transferred to Realization Account were paid Rs.3,000.

d. X a creditor, to whom Rs.60,000 were due accepted office equipment at Rs.40,000 and the  balance due to him were paid  in cash.
e. Y creditor, to whom Rs.16000 were due to be paid, took over machinery at Rs.20,000 and balance realized from him in cash 








           


f. Profit on Realization Rs.4,000 is to be distributed between partners A and B in the ratio of 3:1.

(6)

15. A and B sharing profits in the ratio of 5:3 had the following balance sheet as on December 31st 2007-
	Liabilities 
	Rs.
	Assets 
	Rs.

	Creditors

Bills Payable

General Reserve

Capital A/c

A

B
	40,000

16,000

56,000

1,60,000

80,000
	Goodwill

Building

Plant

Furniture

Debtors

B/R

Stock

Cash
	60,000

68,000

54,000

8,000

65,000

30,000

45,000

22,000 

	
	3,52,000
	
	3,52,000


On January 1st 2008 they decided to admit C into the partnership giving him 1/5th share in the profits of the firm. He had to bring in proportionate capital & his share of goodwill in cash which was valued at Rs.50,000 for the firm. The assets were valued as follows:
Plant Rs.50,000, Debtors Rs.62,000, Stock Rs.65,000, Building Rs.80,000, Furniture Rs.4,000, Bills Receivable Rs.25,000.
Prepare Revaluation Account, partner’s capital account and balance sheet of the new firm.







OR
The balance sheet of X, Y and Z who are partners in a firm sharing profit according to their capitals as on 31.03.2008 
was as under :
	Liabilities 
	Rs.
	Assets 
	Rs.

	Bills Payable

Reserve Fund

Capital A/c

X                         40,000

Y                         20,000

Z                         20,000
	10,500

10,000

80,000
	Land
Plant

Inventory
Receipts                                     10,000

Less: Provision Bad Debt              500
Cash
	50,000

25,000

9,000

9,500

7,000 

	
	1,00,500
	
	1,00,500


On that date Y decided to retire from the firm subject to the following-
(a) Land to be appreciated by 20%.

(b) Provision for bad debts to be increased to 15%.

(c) Plants to be depreciated by 20%.

(d) Goodwill of the firm is valued at Rs.36,000 and retiring partner’s share is adjusted through the capital accounts of remaining partners.

(e) The capital of new firm be fixed at Rs.60,000.

Prepare Revaluation account, partner’s capital account and new balance sheet after retirement of Y.
(8) 

16. Naveen Ltd. invited applications for issuing 40,000, equity share of Rs.10 each at a premium of Rs.2 per share. The amount was payable as follows:
On Applications Rs.5 per share (including premium)

On allotment Rs.3 per share 

On first and final call – balance 

Applications for 60,000 shares were received Applications for 10,000 shares were rejected. Shares were allotted to the remaining applicants on pro-rata basis. Excess money received with applications were adjusted toward sum due on allotment. All calls were made and were duly received except allotment and first and final call on 600 shares allotted to Umesh. His shares were forfeited. The forfeited shares were re-issued for Rs.9 each fully paid up. Pass journal entries.






OR

HCL Ltd invited applications for the allotment of 30,000 shares of Rs.10 each at a discount of 10%. The amount was payable as follows:

On application  





s.2 per share

On allotment





Rs.3 per share

On 1st and final call




Balance

Applications for 50,000 shares were received. Applications for 5,000 shares were rejected. Shares were allotted on pro-rata basis to the remaining applicants. Excess application money received on application was adjusted toward sums due on allotment. All calls were made and were duly received. Mohan who applied for 1,500 shares failed to pay the first and final call. His shares were forfeited. The forfeited shares were re-issued for Rs.8,000 fully paid up. Pass necessary journal entries in the books of the company for the above transactions.










(8)  
  PART – B






Analysis of Financial Statements
17. Dividend paid by a manufacturing company is classified under which kind of activity while preparing cash flow statement.




 







(1)
18. State whether the payments of cash to creditors will result in flow, outflow or no flow of cash  


(1) 
19. The stock turnover ratio of a company is 3 times. State giving reason whether the ratio improves, decline or does not change because of increase in the value of closing stock by Rs.5,000.





(1)
20. Show the following items in a companies balance sheet –

(i)
Calls in arrears



(ii)
Calls in advance 

(iii)
Depreciation




(iv)
Prepaid expenses 

(v)
Underwriters commission


(vi)
Public deposits.




(3)
21. From the following prepare a comparative statement of Bharti Ltd-
                                         
            (4) 
	Particulars
	2007
	2008

	Sales 

Cost of goods sold 60% of sales 
Indirect Expenses

Income Tax
	3,00,000
60% of sales

20% of gross profit

50% of net profit
	3,60,000
70% of sales
25% of gross profit

50% of net profit


22. (a)
From the given information, calculate stock turnover ratio:
Sales Rs.8,00,000, Gross profit 25%, Opening Stock was 1/3 of the value of closing stock. Closing stock was 30% of sales.










(b)
A business has current ratio of 3:1 and quick ratio of 1.8:1, if the working capital is Rs.1,60,000, calculate the total current assets and stock.






   
(2+2=4)
23. From the following balance sheet of Mr. Puri Ltd. Prepare cash flow statement-

	Liabilities
	2007(Rs.)
	2008(Rs.)
	Assets
	2007(Rs.)
	2008(Rs.)

	Equity Share Capital

Pre. Share Capital
Reserve Fund
P/L A/c

Liabilities 
	1,50,000
75,000

20,000

15,000

37,500
	2,00,000
50,000

35,000

24,000

49,500
	Goodwill
Building 

Plants

Debtors

Stock

Cash
	36,000
80,000

40,000

1,19,000

10,000

12,500
	20,000
60,000

1,00,000

1,54,000

15,000

9,500

	
	2,97,500
	3,58,500
	
	2,97,500
	3,58,500


Adjustments:-Depreciation charged on plant was Rs.30,000 and on building Rs.20,000.


                                                    OR
The net profit of a company before tax is Rs.2,50,000 as on March 31, 2008 after considering the following
           Depreciation on fixed assets 




5,000

Goodwill written off





3,000
Loss on sale of machinery 




3,600

The current assets and current liabilities of the company in the beginning and at the end of the year were as follows-                                                                                                              







 2007


2008

Bills Receivable 




5,000


3,100


Bills Payable





2,000


2,500


Debtors 





6,000


7,760


Stock in hand 





3,600


2,800



Outstanding expenses 




1,600


2,800


Calculate cash flow from operating activities.








(6)
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